Industrial Revolution Quiz Part 1

Name:_______________

1. . Before a nation can begin to industrialize, that nation must first develop

1. a democratic government 

2. a rigid class structure 

3. a strong religious foundation 

4. an adequate food supply 

2. Which condition is most necessary to the process of industrialization in a society?

1. dependence on subsistence agriculture 

2. creation of a one-crop economy 

3. availability of investment capital 

4. capture of foreign lands 

3. A major reason the Industrial Revolution began

      in England was that England possessed

1.  A smooth coastline

2.  Abundant coal and iron resources

3.  Many waterfalls

4.  Numerous mountain ranges

4. Which of the following was the most important source of power for the early Industrial revolution?

1. the steam engine

2. animals

3. the windmill

4. the dynamo

5. Why was coal important to the Industrial Revolution?

 1. Mining gave jobs to unemployed farm laborers

 2. It provided the fuel to produce iron

 3. Trading it with other countries brought wealth to invest in industry

 4. It provided fuel to heat workers’ homes

6. Which of the following was an agricultural improvement of the 1600s?


1. Fertilizer from livestock


2. Animal domestication


3. Chemical Pesticides


4. Warmer weather for growing crops

7. Which of the following is on result of the enclosure movement?


1. Profits fell


2. Farms laborers lost their jobs


3. Farm output dropped


4. New crops were developed

8. What was one way that the agricultural revolution contributed to the Industrial Revolution?


1. It triggered a population explosion


2. It tied peasants even more closely to the land


3. It ended feudalism


4. It replaced strip farms

9. Which of the following caused the population boom of the 1700s?


1. rising birth rates


2. prisoners taken during war


3. declining death rates


4. new sources of energy

10. How did the “energy revolution” contribute to the Industrial Revolution?


1. It gave people more enthusiasm for their work


2. It lowered employer’s experience


3. It brought people from the farms to the cities


4. It provided efficient for industry 

11. What natural resources gave Britain an advantage in the Industrial Revolution?


1. water and forests


2. wildlife and precious gems


3. coal and iron


4. good harbors

12. Which of the following ingredients were needed, in addition to technology, to lead to industrializations?


1. Major new inventions


2. Capital and demand


3. Wealthy nobles


4. Factories

13. Why did Britain turn to coal for fuel to produce iron?


1. Britain had used up most of its timber


2. Coal was the cheapest fuel to use


3. Coal was easiest fuel to use


4. Coal had always been used

Directions: Uses the word bank to fill in the missing words

Urbanization
Factories      Enclosure

14. This movement, which increased farm production, was called___________________.
15. The movement of people from the country to cities is called________________.
16. New inventions in the textile industry made it necessary to change from the “putting out system” to producing cloth in____________________.

17. List five factors that helped Britain take the lead in Industrialization.

1.

2.

3.

4.

5.

